
MANUAL No. 4807GB

I I
·······L.SM·~31~(I),

LASER SCAN

MICROMETER

Userls Manual

Mitutoyo

Advanced Test Equipment Rentals
www.atecorp.com  800-404-ATEC (2832)

®

Established 1981



SPECIFICATIONS
This chapter descrihes the display unit specifications and accessories.

11.1 Display Unit (LSM-3100) Specifications

( I) Specifications

Code No. "-l-l-O';.l (mm/illch) ';44-0';2 (111111/EI
._-

Digital display X·,hgil display for data alld .1-dlglt d"play for other. a tlltal of II digits

Standard measuring ~1easurl'Illl'1l1 rf\l~r;jll1llll'lI1or):functlOll (Up to 10 programs No.O to f))

functions
Seglllent <.ksi!!IIJt lOlL \ {o (1

Averaging lIlethod I SlInple average' I to 204X (line,

I Moving 3\'t'ra!!l' 1610 204X times

MFAS RATE I (X IlIlll'q
MEAS RATE 2 1.12 lime, I

MI-.AS RATI-. .1 112X Illnes I

MFAS RATE -l 12"6 IlIlIes): according to set Memory sWitch (R-'l12 timl· .... )

C;O/NG Judgilleni (GO. ±NG)/ Referellce value setlillg fuucllllll/ Onset fUllctlOU/ lJata olllplli fUllctiou/
S;llllpk 1Ilt'aSUft'1l1L'llt functlon/ Stall\tlc ..l1 processing lunclJonl \\.!orkrll'l'L' p\Jsitiollll\lllcalor LFD! Key
l'lllr:' prohlhltlng fUIlctlon J Illlll f-+ Illch changeovl'r functIon,' nllal-~'il~l' caIJt,r;I(loll

-----------~-

Special functions Sl'It'i..:(IOIl of feso[U[IOIl/Transp.Hl'lll ohp,~c( measuring t'UIH:tIOIl (ollly' SF(j, I allu.2 CUI bl' lht..'dlJ Dual-
(Selected by the DIP rll(JgrallllTll'a~Un'rnt'nt/XY llleaSUrl'IIl\.'nt (average 01 X anu Y. JlllnCIll'l' \)1 .x and 'r'l/ DlIJ.I~Ulllt

sWitch settings) IlIL'aSUl"ellll'llt/ Multi-limit measuremL'nt C'i steps of ±NG, OK)
------_. _._------------------

Special functions AJjUSIIIlL'1lt of workriece rosilJoll II1dll'alor l.ED/ BUlIt'r fUIIl"tlllll ON!OFF/ R,'sult ,lisrlay latdl rekaslllg
(Selecfed by the !lllll'r/ l)lsplay n! a COJJlllla (,) to mark the thousandth:-- p\)SIIIOll /SL't!IIl.!:-' Ihl' dhplay l'IH\Il'lll for lh)-

memory sWitch \\Orkrll'cL'/.scfllng the exen:fJOll conlcnl dunng slIlgJe-nllJ IllL'aSlln'll)l'JlIJJ)l"")~))J11Ilg llh' I!() I~ KLiN \!lPIJl/

setfings) Sl'lllllg (hl' RS-.2 ~.2C lklllniter alld p<trIy check/AutomatIc workpll'Cl' d_0~_·tl_o_"___

Scanning control Plovilkd

Signal connector

Foot-swlfch terminal I>rovldeo
---_.-
R m nlrol P ()\ "Je ate co r It II

W'O"C<"'___ f----------------------Power SWitch KC\ S\\ Itl h used

Built-In Interface unit, jRS 212l IFIA RS-212C lOlllolllllll,)!!'nllln IlItel1,ll"
1)I~lllldtll unk output lI11erfau'

l \)J}/lt'l Llhle to tlw f\1-SP( devllL'''- ---- -------

::~:::',:::::'''~ i'::'::: ::',~ ~'::"":::~,~:':':: :" ",.,,,,," ,I,,,, ._ __ _ _

..r=..us.:....--------4~~-" x10 I A2"~)V sl()w-!>I()\\ typc

Operating , "\IllI>Il'1l1 leillperallll<' 0 (. I() -ll)"e
environment I{l'latlvc hUllllJily X()~( or Ie.... :-- \v"I1!lout condcn:-:J.lltlll)

Storage "\llll>lelli temrerature: - 21rC t() 70C

_~~~~_~~_~~ j Relallve hUlll1dll\: 'i';C( ()r less 1\\lth()ut cOlldcIlSaU()n)

Mass -l,~

MANUAl. No. 4807GB 11 - 1



Item

-----t--------------------------------

.-._--------------

(2) Standard Accessories

Part No. Item Quantity

Power cahle (varies depending on the country I I

934626 GND lead wire 14m) I

214234 Fuse I" fl ..' x .'Ilmm. IA slow-hlow) I

214938 PJ-2 connector I

214740 Power key w;nch 2

956042 Shon -circuning r ln x I

223654 Connector plug: CN-,X22 IManufacturer: Sato Pans)* I

x. Mounted on the lhspJay unn

(3) Optional Accessories

Part No.
---~--_ .._----------------------------- .

956119 G P-I H Interlal'e unit

956120 Hell Intl'fface unn

956121 I/O interface unit 1with analog outrut)

956074 Rclay analog output intl'fface umt

956958 Second analog output Interlace
----t---------------------------------- ----------

936937 Illg11natlc code output cahle

956955 Suh-d"play Irwvided With interface)

956127 Expansion circuit hoard for dual-unit measurement

214188 I/O Ulnned,)f" 'i7-,tn61l (Manufacturer DIlK)

216987 BNC lanalog outrutl adarter: Model 12% IManufacturer: POMONA I

937179T Foot sWitch

956445 Ahnorrnal data elit,lination pwgram Icenterless grrnder sreClt"JcatlOn I

11-2 MANUAL No. 4807GB



11. SPECIFICATIONS

(4) External view and dimensions of the display unit (LSM-3100)

'

Screw to secure the

~ , supporting leg: M3 x 0,5

T"C'l~ ~-===I=======~
I •~--~--~----

. I

<1> <D

Front view

Screw to secure the
supporting leg: M3 x 0.5

If)

oj
N

D
CJ

=

\~,wL",:~,
supporting leg: M3 x 0,5

100

Bottom view

(*) Screw to secure the
supporting leg: M3 x 0.5

Signal cable

Side view

Rear view

MA.NUA.L No. 4807GB

• The four ,upporting kg, can he removed by loo,ening the four ,crews that ,ecure them.

• U,e the'l' ,crew hole, for mounting the di,play unit.

• The ,crew hole marked WIth an a,teri,k (*), mu,! have a screw with a length of not

more than 3mm (mea,ured from the hottom plate surface). There is a circuit hoard

in,talled hehind thi, hole (thickncS' 1.2mm).

• U,c ,crew, with a length of not lllore than 6mm in the other three positions.

11-3




